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RINCIPLES RELATED TO MARKING LIFE SCIENCES

1. If more information than marks allocated is given
Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

2. If, for example, three reasons are required and five are given

Mark the first three irrespective of whether all or some are correct/incorrect.

3. If whole process is given when only a part of it is required
Read all and credit the relevant part.

4. If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

5. If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

6. If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

7.  If flow charts are given instead of descriptions
Candidates will lose marks.

8. If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

9. Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

10. Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

11. If language used changes the intended meaning
Do not accept.

12. Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

13. If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

14. If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

15. If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

16. Be sensitive to the sense of an answer, which may be stated in a different way.

17. Caption
All illustrations (diagrams, graphs, tables, etc.) must have a caption.
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SECTION A
QUESTION 1
1.1 111 Dvv
1.1.2 AvY
1.1.3 Bvv
(83x2)
1.2 1.21 Mitochondrion/ mitochondriav’
1.2.2 Cervixv’
1.2.3 Ovaryv
1.2.4 Viviparyv’
(4x1)
1.3 1.31 Both A and Bv'v
1.3.1 B onlyv'v (2x2)
1.4 141 (a) E v'- testisv’
(b) C v'- vas deferensv’
1.4.2 -Produces a fluid which is alkalinev’
-It contains mucusv’
-It contains nutrientsv’
(Mark the first TWO only) (2x1)
TOTAL SECTION A:
SECTIONB
QUESTION 2
21 211 -External fertilisationv’
2.1.2 -Internal fertilisationv’
-increases the chances of fertilisationv’
-Ovovivipary v’/ eggs are retained inside female’s body
-where they are protected
(Mark the first TWO only) (2x2)
2.1.3 -Toincrease chances of fertilisationv’/ the survival of the eggs/ number of
offspring
22 221 B -endometrium v

(6)

(4)

(4)

(2)
(2)

(2)
(6)

20

(1)
(6)

(1)
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2.2.2 |tis musculary/
to protect the foetus from mechanical injuryv//to allow for
parturition/birth
-It is flexiblev//can expand
to accommodate the growing foetusv/
-It is hollowv
to accommodate the growing foetusv/
-The thickened endometriumv/
allows for implantation /survival of the embryov (2)
(Mark the first answer only)

2.2.3  -The nucleus of the spermv fuses with the nucleus of the ovumv/ (2)
2.24

The structure of a sperm cell

Correct drawing (D) -1 mark

Correct caption (C) -1 mark

Any two correct labels(L) - 2 marks @
(9)
(15)

QUESTION 3

3.1 - Diploid cells in the ovary undergo mitosisv’
- to form numerous folliclesv’
- At the onset of puberty and under the influence of FSHv
- one cell inside a follicle enlarges and undergoes meiosisv’
- Of the four cells that are produced, only one survives to form a mature
haploid ovum. v/ (any 4) (4)
5
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3.2 3.21 -Species 1V (1)
3.2.2 -The egg contains the least amount of yolkv’
-Indicating that the chick will be less developed when it hatchesv’ (2)
3.2.3 The shell is porousv” allowing for gaseous exchangev’ (2)
3.24 : : . -
Bar graph illustrating the composition of yolk in different
bird species
40
T 3
T 30
w25
e 20
S 15
X 5
2 0
Species 1 Species 2 Species 3
Bird species
(6)
(11)
(15)

Bar graph drawn

Title of graph

Correct label for X-axis and Y-axis with units|
Correct scale for X-axis (same width of bars
and spaces between bars) and Y-axis
Drawing of bars 1. 110 3 bars plotted correctly
2: Al 4 bars plotted correctly

— | | | =

TOTAL SECTION B: 30

GRAND TOTAL.: 50
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.
17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the
right-hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are
incorrect, do not credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised
abbreviation, but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given,
it is acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life
Sciences or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.
If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.
If units are not given in measurements

Candidates will lose marks. Memorandum will allocate marks for units separately.
Be sensitive to the sense of an answer, which may be stated in a different way.
Caption
All illustrations (diagrams, graphs, tables, etc.) must have a caption.

8
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SECTION A
QUESTION 1
1.1 111 Dvv
112 AVYV
1.1.3 Bv'v
(3x2) (6)
1.2 1.21 Placentav’
1.2.2 Implantationv’
1.2.3  Amniotic fluidv’
1.2.4 Menstruationv’
4x1) (4)
1.3 1.31 B onlyv'v
1.3.2 Both Aand Bv'v
(4)
1.4. 1.4.1. (a) Pituitaryv’ gland / Hypophysis (1)
(b) Graafian folliclev’ (1)
(c) Ovulationv’ (1)
(d) Corpus luteumv’ (1)
1.4.2 Remain lowv” / decreases (1)
1.4.3 - Stimulates ovulationv’
- Stimulates the development of the corpus luteumv
Mark first ONE only Any (1)
(6)

TOTAL SECTION A:  (20)
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SECTION B
QUESTION 2
21. 2141 - Stimulates ovulation v/
- Stimulates the development of the corpus luteum v/
(Mark first TWO only)
2.1.2. Follicle stimulating hormone v /FSH
(Mark first ONE only)
2.1.3 Progesterone v
214 - The (progesterone) levels will remain low v
- The LH levels are low v therefore
- ovulation will not take place v and
- no corpus luteum will develop v/
2.1.5. Hormone X /progesterone levels remain high v
2.2 - After implantation the chorion v
- develops many finger-like outgrowths v/
- called chorionic villiv
- The endometrium v/
- together with the chorionic villi forms the placenta v/
- The umbilical artery v/
- and the umbilical veinv/" develops
- inside a hollow tube v' to form the umbilical cord between the foetus and the
placenta
(Any 6)
QUESTION 3
3.1 3.1.1. (a) Progesterone treatment v/

3.1.2

3.1.3

3.1.4

3.1.5

(b) Development of gestational diabetes v/

Progesterone maintains/thickens the endometrium v and therefore,
maintains the pregnancy v

Same) dosage/250 mg of progesterone v/

(Same) period of time for injection injections given between weeks 16 and
20 v/

(Same) frequency of injections/weekly injections v .

(Mark the first two)

* Glucose levels were taken daily v/

* When the glucose level of a pregnant woman remains high continuously it
indicates the development of gestational diabetes. v

Group B did not receive progesterone v/

If gestational diabetes develops in group A it would be due to the
progesterone treatment v

10

GRADE 12

(2)

(1)

(4)
(1)
[9]

(6)

(1)
(1)

(2)

(2)
(10)
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3.2.

- The Graafian follicle v
- secretes oestrogen v

- causing the endometrium to become thick v /glandular or vascular

- The corpus luteum v/
- secretes progesterone v/

- which (further) increases the thickness of the endometrium v/

- High levels of progesterone inhibit FSH secretions v/

(Any 5)

11

TOTAL SECTION B:

GRAND TOTAL:

[15]

(30)

[50]
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.

17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.
Caption

All illustrations (diagrams, graphs, tables, etc.) must have a caption.

13



202aidovieieadled from Starmerepitysics: eom

SECTION A
QUESTION 1
1.1 1141
1.1.2
1.1.3
1.2 1.21
1.2.2
1.2.3
1.3 1.31
1.3.2
1.4 1441
1.4.2
1.4.3

Bvv
AV
Cvv

Meninges v
Stimulusv’
Neurons v

B only vv/
B only vv

- Brain v’

- Spinal Cordv’
( Mark first TWO only)

Cerebellum v/
C v Medulla Oblongata v

A v Cerebrum v

14

GRADE 12

(3x2) (6)
(3x1) (4)
(2x2) (4)
(2)
(1)
(2)
(2)
(7)

TOTAL SECTION A:  (20)
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SECTION B
QUESTION 2
21 211 (@) EV (1)
(b) AV (1)
2.1.2
Cell Body
Myelin Sheath
%FH((%
R T
Dendrite Axon
Criteria for marking diagram
Caption for the neuron (C) v
Correct drawing of the neuron (D) v
Any TWO correct labels (L) v

(4)
(6)

15
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22 221

222

2.2.3

- Africa v

- Not all brain injuries are recorded v
- due to poor health facilities v/

Criteria for marking graph:

Criteria

Mark allocation

Bar graph is drawn (T)

1

Caption of the graph includes both variables (C)

Correct labels on X-axis and Y-axis (L)

Correct scale for Y-axis
Equal spaces between bars and equal width of bars
for X-axis (S)

1
1
1

Plotting: (P)
1-4 co-ordinates plotted correctly
All 5 co-ordinates plotted correctly

16

GRADE 12

(1)

(2)

(6)
(9)

(15)



3.1

3.2

202aidovieieadled from Starmerepitysics: eom

QUESTION 3

3.1.1

3.1.2

3.1.5

-The pathway along which impulses are transmitted v*
- to bring about reflex action v/

(a) Guillain-Barré syndrome v/
( Mark first ONE only)

(b) Damage to the motor neurons v
( Mark first ONE only)

(c) The skeletal muscles have a decreased reflex response v/
( Mark first ONE only)

- In Hyporeflexia damage is between the spinal cord and the skeletal
muscles v" while
- In Hyperreflexia damage is between the brain and the spinal cord v

Myelin Sheath v/

- Axon is no longer insulated v/

- This causes the speed of transmission of nerve impulses to decrease v
- which can lead to a delayed response v" and

- therefore, loss of muscle control v Any 3

- Every organ / gland is controlled by two sets of nerves v

- that act antagonisticallyv’

- The autonomic nervous system is divided into

- the sympathetic nerves v and

- Parasympatheticv'nerves

- Sympathetic nerves stimulate v’

- fight or flight function v" in emergency situations

- Parasympathetic inhibits v a response and

- restores the body to normalv’ Any 4

TOTAL SECTION B:

GRAND TOTAL:

17

GRADE 12

(2)
(1)

(1)

(2)
(1)

(11)

(4)

(15)
30

50
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.

17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.
Caption

All illustrations (diagrams, graphs, tables, etc.) must have a caption.

19
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SECTION A
QUESTION 1
1.1 111 AvY
1.1.2 Bvv
1.1.3 Dvv
(3x2)
1.2 1.21 Accommodationv’
1.2.2 Cristaev’
1.2.3 Binocularv” Vision
1.2.4 Cochleav’
(4x1)
1.3 1 Nonev'v’
A onlyv'v’
(2x2)
1.4 141 (a) AV
(b) BY
142 (a) 3V
(b)y 2V
143 (a) Circularv
(b)  Circular v
TOTAL SECTION A:
SECTION B
QUESTION 2
21 211 Accommodation v’
2.1.2 The smaller the distance of the object is from the eye the larger the
(central) diameter of the lensv'v'
OR
The (central) diameter of the lenses increases if the object is closer to the
eyev' v
2.1.3 -The lens is elastic v'and can change shape/convexityv' to allow for

accommodation.
-The lens is transparent v to allow the light to pass throughv’
-The lens is biconvexv” to refract light raysv’

(Mark first three only) Any (2x3)

20

GRADE 12

(6)

[4]

[4]
(1)

(1)
(1)

(1)
(1)

[6]
[20]

(1)

(2)

[9]



2.2

3.2
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-Ciliary muscles relaxv’

-suspensory ligaments become tautv’

-ciliary body moves further away from the lensv’

-tension on the lens increasesv’

-lens become less convexv’

-refractive power of the lens decreasesv’

-a clear image is formed on the retinav’ Any 6

QUESTION 3

3.1.1 Cochleav

3.1.2 [130 000—85 000

Y X 100V = 52,94%

3.1.3 -More factories v'were built increase in supply & demand more workersv’
were employed
-Extended expended exposure to loud soundsv’
-Lack of precautionary measuresv’ Any 3
(Mark first three only)

3.1.4 -The impulse will not be transmitted to the cerebrumv’
-and will not be interpretedv’

The cristae are stimulatedv” and

-convert the stimuli into impulsesv’

-the impulses are sent via the auditory nervev’

-to the cerebellumv’

-which interprets the information v'and

-sends impulses to the skeletal musclesv’

-to restore balancev’ Any 6

TOTAL SECTION B:

GRAND TOTAL.:

21

(6)

[15]

(1)
(3)

)

(9)

(6)

[15]
30

50
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.

17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.
Caption

All illustrations (diagrams, graphs, tables, etc.) must have a caption.

23
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SECTION A
QUESTION 1
1.1 111 Cvv
1.1.2 Bv'v
1.1.3 Dvv
(3x2)
1.2  1.21 Abscisic Acidv’
1.2.2 Geotropism v
1.2.3  Apical Dominancev’
(3x1)
1.3 1.31 Nonev'v’
1.3.1 B onlyv'v’
(2x2)
1.4 141 - caffeinev’
- nicotinev’
(mark first TWO only)
1.4.2 - The bitter tastev’
Will prevent herbivoresv'from feeding on them
- The caffeine will kill pathogenic fungiv'protecting the plants from
diseasev’/death Any (2X2)
(mark first TWO)
1.4.3 Thornsv’ (mark first ONE)
TOTAL SECTION A:
SECTION B
QUESTION 2
21 211 (a) Geotropism v
(b) Auxinsv’
21.2 - Due to gravityv’

- There is a higher concentration of auxins on the upper sidev” of the
roots

- Which inhibits growth v/

- Therefore, growth will occur mainly on the upper sidev’

- Causing the root to bend’/grow downwardsv’

24

(6)

(3)

(4)

(1)
(1)

)
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2.1.3 - The seedling must be rotated constantlyv’
- To remove the effect of gravityv’
(2)
(9)
22 221
Changes in concentration of abscisic acid in germinating
v seeds over timev
20
v
20 T
.E 18
E 16
gg 14
=
T & 10
a3 °
2 & 6
E 4
< 2
O T T T T 1
0 2 4 6 8 10
Time (days) v
Mark allocation of the graph
Criteria Mark Allocation
Correct type of graph including the 1
joining of points
Title of graph 1
Correct scale, label and unit for 1
X-axis
Correct scale, label and unit for 1
Y-axis
Drawing of the graph 0: No points plotted correctly
1: 1 to 5 points plotted correctly
2: Al 6 points plotted correctly
NOTE:
If the wrong type of graph is drawn: Marks will be lost for "correct type of graph”.
If axes are transposed: Marks will be lost only for labelling of X-axis and Y-axis.
(6)
2.2.2 (a) Decreased (1)
(b) Increased (1)
(8)

25
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- Auxinsv’
- Are sensitive to lightv’
- Light stimulus from one side causes auxins to move to the
shadedv’
- side/destroyed on the illuminated sidev’
- Auxins concentration is higher on the shaded side of plantv’
- Resulting in more growth on the sidev’
- Stems grows towards the light stimulusv’
- This is called phototropismv’
(Any 4) (4)
[15]

QUESTION 3

3.1

3.2

3.3

3.1.5

(a) Auxin concentrationv
(b) Plumule growthv

For measurement of the plumule lengthv

- They use seven seedlings in each groupv//36 seeds in total/a large
sample

- They calculated the averagev increase in plumule length
(mark first ONE only)

- Same species of beansv

- Seedlings of the same agev

- Seedlings of the same sizeV

- Same temperaturev

- The same investigationv

- ldentical apparatus ( beakers/petri-dishes/graph paper/grid) v

An increase in auxins concentration up to an optimum/10ppm stimulates the
growth rate of the plumule/stem. Which further increase in auxin

concentration there is an inhibition of plumule/ stem growthv'v'

Gibberellins v
Abscisic Acidv
(mark first ONE only)

TOTAL SECTION B:

GRAND TOTAL:

26

(1)

(2)
(9)

(30)

[50]
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.

17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.
Caption

All illustrations (diagrams, graphs, tables, etc.) must have a caption.
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SECTION A
QUESTION 1
1.1 111 Dvv
1.1.2 Cvv
1.1.3 Cvv
(3x2) (6)
1.2 1.21 Islets of Langerhansv’
1.2.2 ADHV
1.2.3 Adrenalinv’
1.2.4 Glycogenv’
(4 x1) (4)
1.3 1.31 Both A and Bv'v
1.3.2 A onlyv'v’
(2x2) (4)
1.4 1.4.1 Negative feedbackv' mechanism (1)
1.4.2 (@) Thyroidv’ (1)
(b) TSHY /thyroid stimulating hormone (1)
(c) Thyroxinv’ (1)
1.4.3 Goitrev’ (1)
1.4.4 Hormone Av (1)
(6)

TOTAL SECTION A: 20

SECTION B
QUESTION 2
2.
21 (a) Thermoregulationv’ (1)
(b) Hypothalamusv (1)
2.2 (a) Sweat glandv’ (1)
(b) Capillaryv/ blood vessel (1
23 (37,4-354) (3)

374 v X100v =535% v

2.4 - Skin temperature decreasedv / lowers from 37,4 °C to 35,4 °C
- because part Q dilated v’/ vasodilated
- causing more blood to flow to the (surface of the) skinv" and
- part P became (more) activev’/ produced more sweat
- causing more heat to be lostv” to the environment

29
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2.5

- through evaporationv'/ radiation/ convection

-Enzymes function optimallyv’

at normal body temperaturev'/37°C
-Enzymes/proteins will denaturev’
at high temperaturev’

-Enzymes will become inactivev’
at low temperaturev’

(Mark the first ONE only)

QUESTION 3

3.

3.1
3.2

3.3

3.4

3.5

3.6

3.7

Adrenalv gland

(a) Aldosterone level v/ increased aldosterone level
(b) Blood pressurev

1 688 volunteers were usedv
The procedure was done 4 times for each individualv’

- All factors should be kept constantv /there should be only one
independent variable

to ensure the validityv' of the investigation

-Dietary factorsv' /examples

can also influence the blood pressurev

To compare the blood pressure before and after the administration of
aldosteronev'vV

- The high aldosteroneV level
- will increase the permeability of the renal tubulesv for salt
- More salt will be reabsorbedv

- health status of the participantsv’

- agev’

- dose of aldosteronev’

- number of daysv’

-dietv’

(Mark the first ONE only) (Any 1)

30
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(6)

(2)
(15)

(1)

(1)
(1)

(2)

(4)

(2)

©)

(1)
(15)
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.
17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.

Caption
All illustrations (diagrams, graphs, tables, etc.) must have a caption.
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SECTION A
QUESTION 1
1.1 1141
1.1.2
1.1.3
1.2 1.21
1.2.2
1.2.3
1.2.4
1.3 1.31
1.3.2
1.4 141
1.4.2

202aidovieieadled from Starmerepitysics: eom

Cvv
Cvv
Bvv

DNA profilingv’
Double helixv’
Gene mutationv’

Peptidev” bond

A Onlyv'v
Both A and Bv'v

(a) W - Nucleotidev

U - DNAYV

(b) X - Phosphatev’
Y - Deoxyribose v’

(c) (Weak) Hydrogenv” bond

Interphase v

33

GRADE 12

(3x2)

(4x1)

(2x2)

TOTAL SECTION A:

(6)

(4)

(4)

(2)

(2)

(1)

(6)

20]
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SECTION B
QUESTION 2
2 21 (a) DNAV (1)
(b) Ribosomev’ (1)
(c)  Guaninev (G) (1)
2.2 - DNA code for a particular proteinv’
- One strand of DNA is used as a templatev’
- to form mRNAY (3)
2.3 Molecule X Molecule Y
-"Double strandedv’ -"Single strandedv’
- Has Thyminev’ -"Has Uracilv’
Mark the first ONE Only
+ 1 for table (3)
2.4 Methioninev’, Glycinev’, Argininev" (in the correct order) (3)
2.5 - The change in the mRNA codon does not change the amino acid

sequencev’
- and hence the protein formed remains the samev’

- since the changed DNA ftriplet still codes for the same amino acidv,
arginine

[15]
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QUESTION 3
3.1 Type of DNA v/ (1)
3.2

NOTE:

If a line graph is drawn — marks will be awarded for the ‘title and
label for X and Y axes' only

If a histogram is drawn — marks will be lost for the ‘type of graph
and correct scale’ only

(6)
3.3 - Repeat the investigationv
- Take several readings and determine the average v

- Increase the sample size v

35
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3.4

3.5

3.6

- Same amount of sample for both test tubes 1 and 2v

GRADE 12

- Technique used to extract or determine amount of nitrogen base

composition must be the same for both test tubesv

- The environmental conditions must be the samev

-Since the ratio of adenine: thymine is the samev

- and the ratio of guanine: cytosine is the samev

- Invasion or personal privacyv

- May be used for other unintended purposesv
- Too costlyv

- Confidentiality may not be maintainedv'

- Mistakes in compiling the databasev

36

TOTAL SECTION B:

GRAND TOTAL:

(2)

[15]
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.

17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.

Caption
All illustrations (diagrams, graphs, tables, etc.) must have a caption.
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SECTION A

QUESTION 1

1.1 1141

1.1.2
1.1.3

1.2

-
AP ON-

1.3

— —
w w
—

1.4 141

1.4.2
1.4.3
1.4.4

1.4.5

SECTION B

QUESTION 2

21 211

21.2

213

22 221

222

(a)
(b)

40 x 2 v'= 80V chromatids.

AVY
AV Y
Dvv

Cytokinesisv’

Centrosomev’
Centromerev’
Genev

Nonev'v'
B onlyv'v

Spermatogenesisv’
Telophase | v

Sperm cellv’

Testosteronev
(i) 23V
iy  23v

15v' chromosomes
50 v"’chromosomes

-Crossing overv’

39

GRADE 12

(3x2) (6)
(4x1) (4)
(2x2) (4)

(1)

(1)

(1)

(1)

(1)

(1)

(6)
TOTAL SECTION A:  [20]
(1)
(1)

-Random arrangement of chromosomes or chromatids along the equatorv’

(Mark the First One only)

As the age of the mother increasesv' chances of having a Downs
syndrome baby increasesv
3 times v

(2)
(1)

(1)
()
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223
Age of the mother on the risk of having a Downs
syndrome babies( per 10000 births)
Calculations
Age 25 8/233 x 3600 = 120
Age 35 25/233 x 360° = 39°
Age 45 200/233 x 360° = 309°
Criteria for marking pie-chart
Criteria Mark allocation
Correct type of graph(T) 1
Caption (C) 1
Correct calculations (CA) 1-2 correct: 1
All calculations correct: 2
Plotting (P) 1-2 correct: 1
All slices correct: 2
(6)
224  Ovary/ (1)
(10)
[15]
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QUESTION 3
3. 3.1 (i) |-Forms spindle fibresv’
(ii) | —Hold chromosomesv’
3.2 Metaphase |
3.3  -Chromosomes are at the equatorv” in their homologous pairsv’
3.4  -Crossing overv'™
-Occurs during prophase 1v
-Chromatids of homologous pairs overlapv’
-At a point called chaismav’
-To exchange genetic materialv’
(Any 2 + compulsory)
3.5
Meiosis | Meiosis Il
-Crossing over occurs -No crossing over
-(In metaphase) the chromosomes -(In metaphase) chromosomes align
align on the equator in homologous singly v'on the equator
pairsv’
-Chromosome move towards the -Chromosome splits and move
opposite polesv’ towards the opposite polesv’
-Chromosome number is halvedv’ -No halving of chromosome
numberv’
Mark the first TWO + v* Table
3.6 The cell has 8 chromosomesv’

Human cell have 46 / 23 pairs of chromosomesv’

TOTAL SECTION B:

GRAND TOTAL.:

41

(3)

()

(15)
(30)

[50]
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.

17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.
Caption

All illustrations (diagrams, graphs, tables, etc.) must have a caption.
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SECTION A
QUESTION 1

1.1

1.2

1.3

1.4

1.1.1
1.1.2
1.1.3

1.4.1
1.4.2
1.4.3

1.4.4

1.4.5

Bvv
Dvv
AV Y

Sex-linkedv’
Autosomesv’

Genetic engineeringv’
Multiple allelesv

Nonev'v’
Nonev'v’

Pedigreev’
3/ Threev

3/ Three v
A v
[Bj v/
i v

i

202aidovieieadled from Starmerepitysics: eom
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GRADE 12
(3x2) (6)
(4 x1) (4)
(2x2)

(4)

(1)

(1)

(1)

(2)

(1)

(6)

TOTAL SECTION A:  (20)
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SECTION B
QUESTION 2

21 211 - Spinev’
- Hipsv

2.1.2 - Achange in the sequencev
- of nitrogenous basesv'/nucleotides in DNAY

2.1.3 - To check for the gene mutationv’

- and if it results in the high bone densityv

214 13 7
—v x100v =65v% OR —x 100v =35%
20 20

(100 — 35)v = 65v%

45
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(2)

(2)

(3)
(9)
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22 2241 P, Phenotype With polydactyly x Without polydactyly+

Genotype  Rr ¥ Y
Meiosis
G/gametes R . X r, v
Fertilisation M
Fi Genotype Rr, Rr, I, v
Phenotype 2 polydactyly ; 2 without polydactylyv
50v*% chance of polydactyl child
F+and Fqv

Meiosis and fertilisationv
*1 compulsory mark + Any 5

OR
P4 Phenotype With polydactyly x Without polydactylyv
Genotype  Rr ¥ Y
Meiosis
Gametes R r
Fertilisation r Rr I
r Rr r
1 mark for correct gametes
1 mark for correct genotypes
Fi Phenotype 2 polydactyly ; 2 without polydactyly¥”
50v*% chance of polydactyl child
F+and Fyv
Meiosis and fertilisationv (6)
*1 compulsory mark + Any 5
(6)
[15]
QUESTION 3
3.1 3.1.1 (a) BBDD VY (2)
bbdd v
3.1.2 (b) White, round fruit v'v’ (1)
3.1.2 (a) BD,bD ,Bd,bd vV (2)
(b) One/1v
(1)
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3.1.3

3.2 3.2.1

3.2.2

3.2.3

BBdd and BBdd v'v
OR

BBdd and Bbddv' v
OR

BBdd and bbddv' v’

- Embryos v

- Umbilical cordsv”

- Bone marrowv’

(Mark first THREE only)

- Stem cells are undifferentiated v’

GRADE 12

- and have the potential to develop into any type of cell v/
- to replace affected/ v'defective cells causing a disorder

- Heart disease v
- Spinal injuriesv’

47

TOTAL SECTION B:

GRAND TOTAL.:

(2)
(9)

)

(2)

(1)
(6)
[15]
(30)

[50]
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.

17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.
Caption

All illustrations (diagrams, graphs, tables, etc.) must have a caption.
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SECTION A

QUESTION 1

1.1 111 DvV
112 CvV
113 BvV

1.2 1.21 Complete dominance v
1.2.2 Alleles/Multiple alleles v
1.2.3 Sex-linked v
1.2.4 Dihybrid v/

1.3 131 Aonly vV
1.3.1 Bonlyvv

14 141 (a) White vfur
(b) Blackv” fur

142 () 1vand3v

(b) 1V

(0 1v

SECTION B
QUESTION 2

21 211 Purple vV

(3x2)

(4x1)

(2 x2)

TOTAL SECTION A:

2.1.2 - When purple-flowering plants and white-flowering plants are crossed v

- all the offspring have purple flowersv' /have no white flowers

2.1.3 - The two alleles for a characteristic v
- separate during meiosis v so that
- each gamete contains only one allele v for that characteristic

50

(6)

(4)

3)
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GRADE 12

214 P4 Phenotype Purple x Purple«

Genotype Dd 4 Dd«

Meiosis
G/gametes D, d ® D, dv

Fertilisation

F4 Genotype DD Dd; Dd cd +

L - 4 e

Phenotype Purple : White~™*

P4 and

Fiv

Meiosis and fertilisation~”

*Compulsory 1 + Any 5

OR
P Phenotype Purple X Purplev
Genotype Dd X Ddv
Meiosis
Gametes D d
Fertilisation D DD Dd
d Dd dd

Fi Phenotype
P+, and
Fq.v
Meiosis and fertilisationv”

1 mark for correct gametes
1 mark for correct genotypes

Purple: Whitev™*

*Compulsory 1 + Any 5

(12)
2.2 - Females have two X-chromosomesv’
- one can carry the (dominant) allele for normal blood-clotting v’/ (X")
- the other X-chromosome can carry the (recessive) allele for haemophilia v’/
(X" (3)
[15]
QUESTION 3
3.1 31 To determine which blood group was the most common in their
communityv’ v’ (2)
3.2 (@) - Obtain permission from the school/clinic to conduct the investigationv’
- Decide on the sample sizev’
- Decide on the method for recording resultsv’
- Decide on time/date to collect data from the clinicv’ (3)

(Mark the first THREE only)
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3.3

3.4

3.5

GRADE 12

(b) - Sampled 3v'/all blood donor clinics in the community

- 200 donors per clinic sampledv'/600 donors

(c) First time donors’ blood groups are not known yetv'/ not in the

database

15 | v x 600v =90V participants

100

(a) (Blood group) O v

(b) (Blood group) ABv'

A AV

IAi v

52

TOTAL SECTION B:

GRAND TOTAL:

(2)

(1)

(1)

(2)
[15]
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.
17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect, do not
credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised abbreviation,
but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life Sciences
or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.
If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.

Caption
All illustrations (diagrams, graphs, tables, etc.) must have a caption.
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SECTION A
QUESTION 1
1.1 111 BVvVY
112 BvYV
113 AVYV
1.2 1.2.1 Punctuated equilibriumv’
1.2.2 Speciesv
1.2.3 Extinctionv’
1.2.4 Inbreedingv
1.3 1.3.1 BonlyvVv
1.3.1 Aonlyvv
1.4 1.4.1 Ambulocetus v
1.4.2 It had flipper-like large feet and a tail v v/
1.4.3 - Ambulocetus v
- Dorudon v
144 2MYA
SECTION B
QUESTION 2
2.1 - Berries produce a large number of offspringv’

- There is variationv” in the species of berries
- Green berries are poisonous and red are notv'™*
- Red berries are eaten and diev” by herbivores

- Green berries are not eatenv’

- So they survive and reproducev’

- Passing on the allele for poison to the next generationv’
- The next generation of berries will have higher proportion of poisonous
berriesv'/ green berries

22 2.21

Biogeography v/

(1)

GRADE 12
(3x2)  (6)
4x1) (4)
(2x2) (4)
(1)
(2)
(2)
(1)
(6)
TOTAL SECTION A: 20
1 Compulsory * + Any 5 (6)
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2.2.2 -Similar organisms v’
-that can interbreed v
- to produce fertile offspring v/
2.2.3 - The original population / common ancestor once lived on a large
continent v’
- and became separated by continental driftv" oceans
- There is no gene flow amongst the three populationsv™*
- Each population was exposed to different environmental
conditionsv’/ selection pressure may be different
- Natural selection occurred independently v" in each population
- The individuals in each population became differentv'from each
other
- genotypically and phenotypicallyv’
- Even if the (three) populations were to mix againv’
- They would not be able to interbreedv’/ produce fertile offspring
- Forming the different species , the coyote, jackal and dingo v
1 Compulsory * + Any 4
QUESTION 3
3.1 3.1. (a) The growth of egg-laying and meat-production chickensv’
(b) Selective breedingv’
3.2 Increase the reliabilityv’
(Mark the first ONE only)
3.3 - Same environmental conditionsv’
- Same type of feedv’
- Same age of the chickensv’
- Same number of chickens in each sample groupv’
(Mark the first THREE only)
3.4 2000/ 500v" x 100V
=400v"%
3.5 - Products produced more quicklyv’
- Increased resistance to diseasesv’
- Improved quality of (chicken) productsv’
- Improved yield of (chicken) productsv’
(Mark the first TWO only)
3.6 - The chickens are largerv’ /heavier so they cannot run away from

predatorsv’

- The chickens are largerv” and is more visible to predatorsv’

- Decreased variationv” therefore more susceptible to diseasesv’
(Mark the first ONE only)
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3)

)

(1)
(1)

(1)

3)

(2)

(2)

(9)
[15]
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3.7

The chickens that underwent selective breeding for meat production
grow faster than chickens bred for egg layingv'v’

OR
The chickens that underwent selective breeding for egg laying grow
slower than chickens bred for meat productionv'v’
OR
- The weight of the chickens increases with agev' v /time (2)

(15)

TOTAL SECTION B: 30

GRAND TOTAL: 50
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PRINCIPLES RELATED TO MARKING LIFE SCIENCES

10.

11.

12.

13.

14.

15.

16.

17.

1. If more information than marks allocated is given

Stop marking when maximum marks is reached and put a wavy line and 'max’ in the right-
hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If sequence is muddled and links do not make sense
Where sequence and links are correct, credit. Where sequence and links are incorrect,
do not credit. If sequence and links become correct again, resume credit.

Non-recognised abbreviations
Accept if first defined in answer. If not defined, do not credit the unrecognised
abbreviation, but credit the rest of the answer if correct.

Wrong numbering
If answer fits into the correct sequence of questions, but the wrong number is given, it is
acceptable.

If language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else in Life
Sciences or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.

If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

If units are not given in measurements
Candidates will lose marks. Memorandum will allocate marks for units separately.

Be sensitive to the sense of an answer, which may be stated in a different way.

Caption
All illustrations (diagrams, graphs, tables, etc.) must have a caption.
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SECTION A
QUESTION 1
1.1 111
1.1.2
1.1.3
1.2 1.21
1.2.2
1.2.3
1.2.4
1.3  1.31
1.3.2
1.4 141
1.4.2
1.4.3
1.4.4

20D ewnioaded from Sthamorephysics: eom

Bvv
Cvv
Cv'v

Caninesv
Hominidaev’
Prognathousv’
Phylogenetic treev’

B onlyv' v
Both A and Bvv

(a) -Sahelantropusv’
- Australophithecusv
- Homov
(Mark first TWO only)

(b) - Taung childv’
- Mrs Plesv’
- Little footv’
(Mark first ONE only)

Homo nenderthalensisv’

2,9 mya/2 000 000 years agov’

650v'cm3
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(3x2) (6)
(4x1) (4)
(2x2) (4)
(Any 2) (2)
(1)
Any 1

(1)

(1)

(1)

(6)
TOTAL SECTION A:  (20)
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SECTION B
QUESTION 2

2.1 - Binocular visionv’
- Eyes in front v/
- Stereoscopic visionv’
- Colour visionv’
(Mark first THREE only)

2.2 Gorilla gorillav’

2.3 - Large jawsv’
- Large caninesv’

24 - More forward position of the foramen magnumv’
- Allows spine to enter verticallyv’
- To support skullv'/for upright walking

2.5 (a)- Homo sapiens has S-shapedv” spine
- Gorilla gorilla has C-shapedv” spine

(b) - Homo sapiens has short and widev” pelvis
- Gorilla gorilla has long and narrowv” spine

2.6 - For the attachment of strong muscles v
- to assist in eating tough/hard foodv’

QUESTION 3

3.1 311 H.erectus v

3.1.2 3,2-2,7v =0,5mya

3.1.3 - Scrapping v
- Poundingv’
- Choppingv
(Mark first ONE only)

3.1.4 -H. sapiensv
- H. neanderthelansisv
(Mark first ONE only)

3.1.5 - Increased brain size v'led to

- increased intelligencev” leading to
- development of complex toolv’
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Any 3

Any 1

Any 1

3)
(1)
(2)

3)

(2)

(2)

(2)
(15)

(1)
(2)

(1)

(1)

3)
(8)
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3.2 3.2.1 All modern humans originated in Africav" and migrated to other parts
of the worldv’ (2)

3.2.2 Mitochondrial DNAY (1)
3.2.3 - Fossil Ardiphithecus was found ONLY in Africa v’

- Fossil Australophithecus was found ONLY in Africav’

- Fossil Homo habilis was found ONLY in Africav’

- The OLDEST fossil of Homo erectus was found in Africav’

- The OLDEST fossil of Homo sapiens was found in Africav’
(Mark first FOUR only) Any 4 (4)

(7)
[15]

TOTAL SECTIONB:  (30)

GRAND TOTAL:  [50]
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